# Joliet Public Schools District 86 701 Third Ave. Joliet, IL 60436



Dear Parent or Guardian,

Listed below are the supplies that your child will need to begin school on **August 18, 2011**. All school supplies are due the first day of school. Please make sure your child's name is on all school supplies.

#### **Kindergarten:**

- 2 Blunt end metal scissors /Tijeras con punta tacha
- 5 Boxed of Kleenex/Cajas de clinex
- 4 Pkgs. of 12 count #2 pencils/paquetes de lapizes
- 4 8 oz. Voltees of Elmer's Glue (not paste)/Resistol Blanco NO PASTA
- 4 Glue Sticks/palitos de resistol
- 4 Boxes of 8 count Crayons/Cajas de Crayolas de 8
- 1 School Bag/Mochila
- 5 Pocket Folders/Folders con bolasas al lado
- 1 Adult shirt for painting/Una playera de adulto para tareas
- 1 School Box/Una caja para los lapis & crayolas
- 1 Extra uniform in bag with name on it/Un cambio de ropa para en caso de accidente
- 1 Pkg. of stickers/calacamonias
- 4 Primary writing tablets (lined)/libretas primarias
- 2 Drawing tablet (unlined)/libretas pintar
- Box of Ziploc plastic bags (1 gal.)/Bolasas de gallon para librettos
- 1 Box of Ziploc plastic bags (Sandwich size)
- 1 Box of bandaids/Caja de curitas
- 1 24 oz. Jar of Hand Sanitizer /Un pomo de Sanitizador para a la manos
- 1 Container of disinfectant wipes
- 1 Pair of Gym Shoes for PE-Required

# Supplies will need to be replaced as needed during the school year.

NO MARKERS! NO PENCIL SHARPENERS NO COLORED PENCILS

# Joliet Public Schools District 86 701 Third Ave. Joliet, IL 60436



Dear Parent or Guardian,

Listed below are the supplies that your child will need to begin school on **August 18, 2011**. All school supplies are due the first day of school. Please make sure your child's name is on all school supplies.

## First Grade

- 6 Primary writing tablets /Libretas Primarias
- 12 Pencils #2 /Lapiz
- 2 Boxes of crayons (24 count) NO large size/Cajas de crayolas de 24
- 1 Pair of scissors /Tijeras
- 2 <u>Large</u> white glue/botellas de Resistol
- 4 Glue sticks/Lapiz de resistol
- 4 Large boxes of tissues/Cajas grandes de clinex
- 1 School box, small/ Caja para aguardar lapizes
- 6 Pocket folders /Folders con bolsas
- 1 Pkgs. of stickers/calcamonias
- 1 Book bag/mochila
- 1 Box large ziploc 1 gal. bags/bolsas de plastico tamano galon
- Boxes small zip lock sandwich baggies/bolsas de plastico tamano sandwich
- 4 Spiral notebooks (single subject)/libretas aspiral
- 2 Pkg of Index Cards lined/packete de tarjetas indices
- 1 Box of Band aids/curitas
- 1 40 oz. Jar of Germ X/Desinfectante de manos
- 1 Disinfectant wipes Clorox or Lysol 78 wipe count/tuallas disinfectante
- 1 Pair of Gym Shoes for PE-Required

#### NO MARKERS PLEASE!

First graders go through many supplies. <u>Please check often with your child to see</u> what they are in need of throughout the year.

# Joliet Public Schools District 86 701 Third Ave. Joliet, IL 60436



Dear Parent or Guardian,

Listed below are the supplies that your child will need to begin school on **August 18, 2011**. All school supplies are due the first day of school. Please make sure your child's name is on all school supplies.

## **Second Grade**

_	_	••	_	-	
1		•	R		0.44
			к		-

- 1 large Eraser
- 4 Folders with pockets
- 1 Zipper pencil bag or case
- #2 pencils plain yellow (in box with child's name on box)
- 2 Boxes of crayons (24) count (may need more during the year)
- 2 Glue sticks
- Book bag a <u>MUST</u> to carry books and papers home
- 1 Set of eight watercolor markers
- 1 Pair of scissors
- 1 Box of Ziploc baggies 1 gallon size
- 1 Box of Ziploc baggies 1 sandwich size
- 3 Boxes of Kleenex
- 2 Pkgs. of loose-leaf wide-ruled paper
- 6 Spiral notebooks wide-ruled
- 1 Pencil sharpener with container to catch shavings
- 2 Box of dry erase markers
- 1 Dry erase eraser
- 1 Container of Clorox or Lysol disinfectant wipes
- 1 40 oz. bottle of Germ-X Hand Sanitizer
- 1 3- Ring Binders
- 1 Package of stickers
- 1 Pair of Gym Shoes for PE-Required

Supplies will need to be replaced during the school year.

# Joliet Public Schools District 86 701 Third Ave. Joliet, IL 60436



Dear Parent or Guardian,

Listed below are the supplies that your child will need to begin school on <u>August 18, 2011</u>. All school supplies are due the first day of school. Please make sure your child's name is on all school supplies.

#### **Third Grade**

- 1 Small school box
- 6 Boxes of 10 pencils #2
- 5 Folders with pockets with 3 prong rings
- 5 Pkgs. of notebook paper
- 4 <u>Large boxes</u> of Kleenex
- 2 Glue sticks
- 1 Pair of pointed scissors
- 2 Boxes of 24 count crayons
- 1 Book bag
- 6 Spiral notebooks (70 sheets wide-ruled)
- 1 Box of <u>1 gallon size</u> baggies (zip lock)
- 2 Erasers (large)
- 1 Pencil sharpener with cover for shavings
- 2 Box of 8 colored pencils
- 3 Highlighters (1 pink, 1 yellow, 1 green)
- 1 box of sandwich baggies zip lock 50 count
- 1 Ruler with metric and standard measurement
- 6 Packs of 100 lined white 3X5 index cards
- 1 Pkg dry erase markers
- 2 3 subject notebooks
- 1 Large T shirt large enough to cover uniform for Art
- 1 Pair of Gym Shoes for PE-Required

Supplies will need to be replaced as needed during the school year.

# Joliet Public Schools District 86 701 Third Ave. Joliet, IL 60436



Dear Parent or Guardian,

Listed below are the supplies that your child will need to begin school on **August 18, 2011**. All school supplies are due the first day of school. Please make sure your child's name is on all school supplies.

# Fourth Grade

- 4 Packs 24 #2 pencils
- 5 Folders with pockets
- 4 Packages of notebook paper(wide rule)
- 4 Boxes of Kleenex
- 1 Pair of pointed scissors
- 2 Boxes of crayons (16 or 24)
- 2 Glue sticks
- 10 1-Subject notebooks (70 sheets count)
- 4 3 Subject note book(wide rule)
- 1 Book Bag
- 1 Pkg. of markers (minimum of 8)
- 1 Pkg. of colored pencils
- 1 Boys-Box of sandwich size zip lock baggies
- 1 Girls-Box of zip lock bags quart size
- 6 Pkgs index cards (3X5)
- 3 High lighters (1 pink, 1 green, 1 yellow)
- 1 Ruler (Inches /centimeters)
- 2 Pencil Sharpener with canister
- 1 Disinfectant wipes Clorox or Lysol 78 wipe count
- 1 Large bottle of Germ-X (hand sanitizer 40 oz bottle)
- 1 Pair of Gym Shoes for PE-Required

Supplies will need to be replaced as needed during the school year.

# Joliet Public Schools District 86 701 Third Ave. Joliet, IL 60436



Dear Parent or Guardian,

Listed below are the supplies that your child will need to begin school on **August 18, 2011**. All school supplies are due the first day of school. Please make sure your child's name is on all school supplies.

#### Fifth Grade

- 1 1 Subject notebook (wide rule)
- 4 Packs #2 pencils or 2 packs mechanical pencils with extra lead
- 1 Packs black or blue ballpoint pens (erasable only)
- 5 Folders with pockets
- 6 Packages of notebook paper
- 3 Boxes of Kleenex
- 1 Pair of pointed scissors
- 1 Boxes of crayons (16 or 24)
- 1 Glue sticks
- 2 5-Subject notebooks (spiral)
- 1 Book Bag
- 1 Pkg. of markers (minimum of 8)
- 1 Pkg. of colored pencils
- 1 **Boys** Box of 1 Gallon size zip lock baggies
- 1 Girls- Box zip lock bags (sandwich size)
- 3 Highlighter (1 yellow, 1 pink, 1 green)
- 1 Ruler (in., cm.)
- 1 Pencil sharpener with lid or canister
- 4 Package of 100 count lined index card
- 1 Disinfectant wipes Clorox or Lysol 78 wipe count
- 1 Texas Instrument TI-30 Calculator Required
- 1 Package eraser tops
- 1 Compass
- 1 Protector
- 1 Pair of Gym Shoes for PE-Required

Supplies will need to be replaced as needed during the school year.

# Joliet Public Schools District 86 701 Third Ave. Joliet, IL 60436



Dear Parent or Guardian,

Listed below are the supplies that your child will need to begin school on **August 18, 2011**. All school supplies are due the first day of school. Please make sure your child's name is on all school supplies.

# Pre K

- 1 Backpack/Mochila
- 2 boxes of Kleenex/Cajas de Klines
- 1 Roll of paper Towels/Rollo de toallas de papel
- 1 Change of clothes (in case of emergency)/Cambio de ropa(en caso de emegencia
- 1 Large Shirt for painting/playera granda para pintar
- 2 Disinfectant wipes Clorox or Lysol 78 wipe count/canister de toallas desinfectantes de 78
- 1 Large bottle of Germ-X (hand sanitizer 40 oz bottle)/botella grande de sanitizador de manos
- 1 Wide rule -70 count spiral notebook/ Una libreta de lineas gruesas de 70 ojas